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If you are saying before 2> — INIIARP WINY 150 ON

OVERVIEW

3"2wn (according to X21) was not sure what the 1121 meant (when they said 0w oX
151 oK1 101 72v); whether they were discussing wIX> °19% or after wx°. He responded
to both situations. Nv0IN clarifies s'k27 view.

Mmoo responds to an anticipated difficulty:1
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Even though 2''2w" is uncertain as to the view of the 2°%51; it is possible that they
maintain that (even) wIR> °19%, nevertheless if 11 12 awH X719 the rule is 72VNW° X7 -
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Nevertheless it does not seem logical at all to 29 to assume that the p"n argues
on 32w wWINS %1DY.

SUMMARY
X2 totally negates the concern of *P75 K91 vinn.

THINKING IT OVER

How are we to understand that 3"2w1 gave credence that the 1127 (who are his 92
XN21P9) maintain WIR® *19% he goes free, and X271 (who merely has to justify their
nPonn [not his own logic]) could not bring himself to do $0?1°

"It would seem that X317 does not establish the 7awn before WX, for we would not understand the view of the 3127;
why if P2 72 owH W79, the 72v does not work for WX 127 (since he was not wx»nn). X211 does not accept the
argument of »aX that if NWX" 127% 7T2vNw° then kvl X91 vInn.

%1t is therefore evident that 3"2w1 entertained the idea that the 1127 maintain that wIX> *19% if 117 72 oWH W7D the 72V
goes free (presumably) because P15 8?1 *v12°n. Why then could not 827 agree that the np1onn is wIR> 2195721

? In the 1"mn it reads “»99'; see TR RN,

* X21 totally negates the concern of P15 X9 *yimn.

> See >"xan.
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